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The authors conducted a reaction to obtain A from X for total synteses of palhinine alkaloids.
However, desired cyclization did not proceed and undesired B was unexpectedly obtained as a sole product.

Q1: Explain a (ideal) mechanisms to give A and B from X, respectively
Q2: To avoid the formation of B, the authors revised the precursur X to X’ and they accomplished the desired reaction
and total syntheses. Propose a plausible structure of X'.
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Propose a reaction mechanism, and show the transition state that determines stereoselectivity.
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